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SHE1H5H (H)
AE | IEfL K4 ouT | IN [#BX|H D| NET iEZ
O 1 = H ZhA 40 36 76 | 114 | 646 BGE
O 2 =2 B 40 45 85 | 174 | 676
O 3 EF EE 39 47 86 | 17.3 | 68.7
@) 4 #HE Fedf 40 38 78 91 | 689
O 5 Ek FH 44 44 88 | 191 [ 68.9
O 6 Fi BR 40 44 84 | 148 | 69.2
O 7 TH #X 48 48 96 | 26.4 | 69.6
8 A% IFIE 46 51 97 | 274 | 69.6
9 b8 BUA 49 57 106 36 70
10 Tk B 40 41 81 10.6 | 70.4
11 BE IEfE 38 42 80 95 [ 705
12 iy AB 44 38 82 105 | 715
13 = fEsE 39 44 83 | 109 | 72.1
14 | =& #h=H8 | 40 44 84 | 11.7 | 723
15 = BE 38 43 81 85 | 725
16 ik BX 41 43 84 | 114 | 726
17 #HE A 43 44 87 | 142 | 728
18 i) i 39 42 81 75 | 735
19 IMR BSE 42 49 91 175 | 735
20 hE = 42 45 87 | 132 [ 738
21 L5 = 39 45 84 10.2 | 738
22 FHE & 40 47 87 | 132 | 738
23 5 = 41 45 86 12 74
24 4 g 39 42 81 6.7 | 74.3
25 B RE 40 41 81 6.2 | 74.8
26 AL SrE 42 45 87 12.2 | 748
27 Ik B 42 46 88 | 129 | 751
28 iEk BE 39 46 85 93 | 75.7
29 IMNIL FEA 44 54 98 | 216 | 76.4
30 R Rk 40 44 84 6.2 | 77.8
31 EX E1T 41 56 97 | 185 | 785
32 RE IR 41 52 93 142 | 788
33 5% B 45 49 94 124 | 81.6
34 FE B 43 47 90 8.1 | 819
35 kK #A 45 52 97 147 | 82.3
36 BR BEX 58 53 111 | 28.4 | 826
37 EH ER 47 47 94 | 109 | 83.1
38 &k 55 50 56 106 | 17.7 | 88.3
39 KA B 51 49 100 11 89




